
Fórmulas Trigonométricas

1. sen α = cos(π/2− α), cos α = sen(π/2− α).

2. tan α = cotan (π/2− α), cotan α = tan(π/2− α).

3. sec α = cosec(π/2− α), cosec α = sec(π/2− α).

4. sen2 α + cos2 α = 1, sec2 α = tan2 α + 1.

5. sen(α± β) = sen α · cos β ± sen β · cos α

6. cos(α± β) = cos α · cos β ∓ sen α · sen β

7. tan(α + β) =
tan α + tan β

1− tan α · tan β
, tan(α− β) =

tan α− tan β

1 + tan α · tan β

8. sen x + sen y = 2 · sen
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(

x + y

2

)
cos

(
x− y

2

)

11. cos x− cos y = −2 · sen
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12. sen(2α) = 2 · sen α cos α, cos(2α) = cos2 α− sen2 α

13. sen2 α =
1− cos 2α
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14. cos2 α =
1 + cos 2α

2

15. sen
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)
= ±
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2
. El signo se elige según el cuadrante donde se encuentra
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. El signo se elige según el cuadrante donde se encuentra
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17. tan
(
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= ±
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1 + cos α
. El signo se elige según el cuadrante donde se encuentra
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18. tan(2α) =
2 · tan α

1− tan2 α

19. cot(α + β) =
cot α · cot β − 1

cot β + cot α
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